«Ypasnenus nopaoka n, donyckaroujue noHuicenHue nOPAOKa»

1) y"sin*

X =sin2x. Oteer:. y=cigx +Cix +C,.

2) x3y"+x%y'=1. OtBerT: y:C11n|x|+l+C2.
X

3) ylr_xyrrr+(yrr)2:0.

2
Ortser: yz—x?—Cl[(x —C))-In|x —C1|—x]+C2x +C5.

2
4) 2yy" + (") +(»")* =0. OTtBer; yzci[1+3\/(cl)z-(cz+§xj ]
1
y=0.
5) yw"' =) =y*Iny. OtBer: Iny++C,+In’y=C, -,
y=1.
6) y’-(1+(y')2)=y”. Otser: sin(y+C,)=C, -e".
2 (1 .
7) y'=1+y". OTtBer: yzg-(5x+Clj -x+Cy,
y=-x+C.
G
8) x%yy" —(y—xy")* =0. OtBer: y=C,-x-e *.

n !’ yy
9) yy"— (') = :
V1+x?
OrtBer: yzCz-‘x+\/1+x2

10) x —siny” +2y" =0.
X=sint-2t,

€ . eCl(x2+x\/1+x2)

Orger: y= —%COSZI +§sin 2t+(C, —2—t2)sint+(%—2Cljt +§t3 +C,.



